Padasalai TrbTnpsc

RAVI MATHS TUITION CENTERCH-82.PH-8056206208

11TH ALGEBRA 5 MARKS TEST 5 Date : 11-Jun-19

11th Standard
Maths Reg.No.:
Time:01:30:00 Hrs Total Marks : 50
10x5=50
1 1 3
D |- <lzz—1
2) Find the values of k so that the equation x2 =2x(1+3k)+7(3+2k)=0 has real and equal roots.
2
3) Ifaand B are the roots of the equation 3x2-4x+1 =0,form the equation whose roots are "‘7; and %
4)  Solve for x*-7x3+8x2+8x-8=0 .Given 3-1/5 is a root
z—2 5
5) Solve 1_—0-4 Z m Q%
6 . . . x+4
) Resolve into partial fractions @D 62)
7 : - . z2—2x—9
) Resolve into partial fractions T at0) Q
8) Determine the region in the Plane determined by the inequalities 3x+4y§60,x+3@20,y20
9) Solve (1-x)¥4 +(15+x)/4=2 Q)
1
10) Solve (z +1)3 =/ — 3 ,
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RAVI MATHS TUITION CENTERCH-82.PH-8056206208
11TH ALGEBRA 5 MARKS TEST 4

11th Standard

Date: 11-Jun-19

Maths Reg.No.:

Time :01:30:00 Hrs Total Marks : 50
10x5=50

1) a+b 1

If a2+b?2=Tab.Show that log = =3 (loga+logb)

2) Solve:log,x —3loglx = 6
2

3) Find all pairs of consecutive odd natural numbers both of which are larger than 10 and their sum is less than 40.

4) Resolve the following rational expressions into partial fractions. QQ)

X

(x2+1) (x—1) (x+2)

B © 1
5 ifa and 8 are the roots of the quadratic equation x* + \/Zx +3=0,forma quadr%&nomial with zeros pr

I -

X

6) Resolve the following rational expressions into partial fractions. Q<">

(=1)° ,

7) Resolve the following rational expressions into partial fractions. Q
x2tx+l Q

x2—5x+6

8) Resolve the following rational expressions into partial fractigns:

6x2—x+1 ?\
B x2x+l %
9 Ssolve ol <3 $
x+3
10) solve: Q/Q )
(i) 3(x=2) < 5(2—x)
5 3

Qﬁ***************************************
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RAVI MATHS TUITION CENTERCH-82.PH-8056206208
11TH ALGEBRA 2 & 3 MARKS TEST 2

11th Standard

Date: 11-Jun-19

Maths Reg.No.:
Time:01:30:00 Hrs Total Marks : 50
10x2=20
1 3| o
Solve forx |3 — el
2) Solve—3x| +5 < —2and graph the solution set in a number line.
1
3) solve: z|10x — 2| < 1
5
4) Represent the following inequalities in the interval notation: QQ)
~2x>0or3x—4<11 65
27 _ ;9
5) Compute logy' — log,, Q
2 bZ 2 (L
6) Prove ZOgZ_ +log— + logc— =0 <,‘>b
c ca ab Q
1
7 Prove log ea % log2b x log 2c = 3
’

8) Determine the region in the Plane determined by the inequalities. x SQ,x >y
9) Solve logs., (x2-6x+65)=2 Q
10) Solve (2x+1)2-(3x+2)2=0 3

& 10x3=30

11) Solve loggx+logx+log,x=11 \2&

12) Solve log, 2% =2 log,®

13) 16 25 8
Prove that log2 + 16logg + IZIoga + 71@1

14) if log x logy log z

15)

16)

—— = — = —— , then prove thatayx=

S(X_

Find all values of x for which x@ 0.
x2—4
Solve: - <0
x2=2x-15

3x+1

17) Resolve the followizaal expressions into partial fractions.

(x=2)(x+1)

18) Determine the region in the plane determined by the inequalities.

2x+y>8, x+2y>8 x+y<6

19) Solve 3x2+5x-2<0.

20)

Solve\x+ 14 <x+2.
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RAVI MATHS TUITION CENTERCH-82.PH-8056206208

ALGEBRA2 & 3 MARKS TEST 1 Date : 11-Jun-19
11th Standard
Maths Reg.No.:
Time:01:30:00 Hrs Total Marks : 50
10x2=20
2
1) simplify (125)3
—2
2 =2
) Simplify 27) i
@
3) 217’
Evaluate [(256) 1 ]
4) Simplify and hence the value of n: 3§£ =27 QQJ

5) Find two irrational numbers such that their sum is a rational number. Can you find tw@mal numbers whose product

is a rational number? b(]/
&

6) Find a positive number small than —— 1000 . Justify

7) Solve the inequation 5x-1 < 15 when x is a natural number
8) Asolution is to be kept between 68°F and 77°F. What is therangein tv!rature in degree Celsius (c) or

Fahrenheit (F),conversion formula is givenby F' = ¢ C +32?

z+2 +4
9) Solve the equation == o3 = 29;3 C. ;
10) Solve :x2+2|x|-8 =0 &
?\ 10x3=30

1 1\ 2 % 1
11) If (:c+3 + af?) = % ,2then find the value of@— af?) forx>1
12) Solve the linear in equation 4-x<< 3x+12. @Q~

)

13) Solve the equation x23 +x¥3-2=0.
)
)

14) Solve the quadratic equation 52x-5% =5,

1 1
L vy v % YA

16) Solve —— < 6.and ex§ solution using the interval notation.

\ 2

Solve2|m+ 1| - @
o

18) Ifx=1/2 + +/3 fin

z2—1
9 [z [z _
) Solve ¢ =13 . =2.

20) Afactory kept increasing its out-put by the same percentage every year. Find the percentage, if it is known that the output

graph the solution set in a number line.

has doubled in the last two years.
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RAVI MATHS TUITION CENTERCH-82.PH-8056206208
11TH ALGEBRA 1 MARKS TEST 6

11th Standard

Date: 11-Jun-19

Maths Reg.No.:

Time : 01:15:00 Hrs Total Marks : 65

1)

9)

10

11

12

13

14

15

16

65x1=65
If [x+2]|<9,then x belongs to
@ (-°-7) (b) [1L,7] (c) (-°,-T)o[1l,0) (d) (-11,7)
Give that x;y and b are real numbers x<y;b >0, then

(@) xb<yb (b) xb >yb (c) xb<yb (d) L2
b= b

If% > 0,then x belongs to QQ)
(@ 2°7 (b) (2°) (9 (-°2) (d) (-2,%) b(b
The solution 5x-1< 24 and 5x+1>-24 is (]9

(@) (45) (b) (-5-4) () (-5,5) (d) (-54) <ob

The solution set of the following inequality |x-1| > [x-2]|is Q)Q

(@) [0,2]1 (b) [2°] (c) (0,2) (d) (-°2) ,

The value of log 5512 is QQ

(@) 16 (b) 18 (c) 9 (d) 12 g‘

The value oflogSé is &

(@ -2 (b) -8 (c) -4 (d) -9

If log\/; 0.25=4 ,then the value of x is $

(@ 0.5 (b) 2.5 (c) 1.5 (d) 1.25

The value of log, b log, c log. a is @
@2 (b) 1 (c) 3 (d) 4
) If 3is the logarithm of 343 the?t;%ase is

(@ 5 (b) 7 (c) 6 (d)
) Find a so that the sduct of the roots of the equation 2x?+(a-3)x+3a-5 = 0 are equal is
(@ 1 (b) 2 (c) 0 ) 4
) If aand b are the roots of the equation x2-kx+16=0 and a2+b2=32 then the value of k is
(@) 10 (b) -8 (c) -8,8 (d) 6
) The number of solution of x2+[x-1|=1 is
(@ 1 (b) 0 (c) 2 (d) 3
) The equation whose roots are numerically equal but opposite in sign to the roots 3x>-5x-7 =0 is
(@) 3x%-5x-7=0 (b) 3x*+5x-7=0 (c) 3x2-5x+7=0 (d) 3x*+x-7
) If 8 and 2 are the roots of x*+ax+c=0 and 3,3 are the roots of x*+dx+b=0;then the roots of the equation x*+ax+b = 0 are
(@) 1,2 (b) -1,1 (c) 9,1 (d) -1,2

) If aand b are the roots of the equation x>-kx+c = 0 then the distance between the points (a;0) and (b;0)

@ a2 —c () \[@—4c (©) \Jac— k2 (d) k8¢

17)
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ke 2
If (x+2) (x—1)  x+2
(@ 1 (b) 2 (c) 3 (d) 4

1
+ o ,then the value of k is

18) 1-2x A B
If 5 = 7 T — thenthevalue of A+B is
3+2x—x S 3ex o xtl
@ L b 22 ! @ 2
2 3 2 3

19) The number of roots of (x+3)*(x+5)*=16 is
(@ 4 (b)2 ()3 (do

20) The value of log; 11.logy; 13.logy; 15log;s 27.log,; 81 is
(@1 (b)2 ()3 (d) 4

21) Ifx<7,then

(@ x<-7 (b) -x<-7 (¢) x>-7 (d) x>-7

22) |f-3x+17 <-13 then

(@) x€(10,°) (b) x€[10,°) (c) x€(-°,10] (d) x€[10,10) 62)
23) Ifxis a real number and |x| < 5 then b(]/Q

(@) x=5 (b) -5<x<5 (c) x<-5 (d) -5<x<5 <9
24) If |x+3| >10 then Q)Q

(a) xe(-13,7] (b) x€[-13,7) (c) x€(-°,-13][7,°) (d) xe(-°-13]([7,°)
25) W is equal to

@ 2 © J1* @ 1S (A {76 g“
26) The rationalising factor of3i is
3 \2\?\

) 6 B B @ P @ 7
27) (\/g - 2)(\/§ +2) isequal to
(@ 1 (b) 3 (c) 23 (d) 21 @
28) The number of real solution of |2x—>€§is
(@ 0 (b) 2 (c) 3 (d) 4 %
29) 2

() [ ] QQ % none of these

30) If the roots of x2-bx+c =0 are two consecutive integer,then b>-4c is
(@ 0 (b) 1 (c) 2 (d) none ofthese
31) The logarithmic form of 52=25is
(a) log2 =25 (b) log) =25 (c) log’ =2 (d) logys=2
32) The Value oflogﬁf) is
(@ -2 (b) 1 (c) 2 (d) -1
33) The value of logifo + log?o - lOgTo =
(a) log}, (b) logjy (c) 1 (d) -1
34) (x2-2x+2)(x>+2x+2) are the factors of the polynomial
(@) (x®2x)?2 (b) x*4 (c) x*+4 (d) (x2-2x+2)?
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35) The factors of the polynomial 6\/3x2 —47x + 543 are

(@) @x—53)BBx—1) (b) 2x—53)B3\Bx+1) () @x+5y3)BBx+1) (d) 2x+5y3)3Bx—1)

3
36) Given |;| <1 then:

(@) xe(>,3) (b) x€(4,°) (c) x€(1,7) (d) x€(L,4)U(4,7)
37) Ifa and B are the roots of 2x2 - 3x - 4 = 0 find the value of a* + >

@ L b V14 () 0 (d) noneof these
2

38) Ifa and S are the roots of 2x2+4x+5=0 the equation where roots are 2a and 28 is:
(@) 4x>+4x+5=0 (b) 2x2+4x+50=0 (c) x*+4x+5=0 (d) x*+4x+10=0

39) The minimum point of y = x2-4x - 5 is:
(@ (29 (b) (-29) (c) (-2,9) (d) (4,5)

40) The condition that the equation ax2+ bx + c = 0 may have one root is the double the other I?bg%
(@) 2b2=9ac (b) b*=ac (c) b2=4ac (d) 9b?=2ac Q©

41) solve '\/7+6x—x2 =x+1 b(]/
(a) (1,-3) (b) (3,-1) (c) (1,-1) (d) (3,-3) Q<9
o)

42) Solve 3x? + 5x - 2<0

_ ’
@ @3) ® ;] © (25 @ (27) Q
43) The zero of the polynomial function f(x)=9x2-16 are: gg

@ 016 B B4 (© (3, -3 @ 3, -3

44) The value of a when x3-2x2+3x+a is divided by (x - 1), t %inder is 1,is:
(@ -1 (b) 1 (c) 2 (d) -2
45) Find the other root of x2-4x+1=0 given that 2+x3 5% root:

@ V342 () B2 (0 243 (d) \§ @

46) If then valu

(@ 2 (b) 0 (c) 3 (d) -2 %

47) If\/_l\ﬁ:\/g+a thenQ‘?\

@ 2 (b) +2 (‘Q@ (@) \/7
2 3

4 1
(—2)* % (= 10003 is

48)

(@) 20 (b) -20 (c) 2 (d) 100
49) Logarithm of 144 to the base 243 is

50) The value of log,3 . log,732:
(@2 (b) 2 (¢ 2 (d)2
2 5 3 5

6
51) The value of 2 log,,3 + logy, 16 - 2 log), 3 is

(@ 1 (b) 0 (c) 2 (d) 3

2 373x64 %1273
52) Thevalueof —— is
97 4x272
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(@) 3° (b) 3° (c) 3* (d) 3

53) If (x+ 1) and (x - 3) are factors of x3 - 4x2 + x + 6 then other linear factor is
(@ x+2 (b) x-2 (c) x-1 (d) x+3

54) If P(x) = x3+ 3x2+ 2x + 1, then the remainder on dividing p(x) by (x - 1) is
(@ 7 (b) 0 (c) 6 (d) 1

55) The value of log,*+ logy/,* is
(@ 1 (b) 0 (c) 2log* (d) 2logy

56) The condition for one root of the quadratic equation ax? + bx + ¢ = 0 to be double the other
(@) b?=3ac (b) b?=4ac (c) 2b?=9ac (d) c?=ac-b?

57) If one root of the quadratic equation ax? + bx + ¢ = 0 is the reciprocal of the other then
(@) a=b (b) a=c (c) ac=1 (d) b=c

58) The number of real solutions of the equation [x? - 3|x| +2=01is QQ)
(@1 (b)2 ()3 (d)4 %%
59) Ifaand b are roots of X2+ x + 1 = 0 then the value of a2+ b2 = (]/Q
(@ 1 (b) -1 (c) cannotbedetermined (d) 0 <9b
60) For the below figure of ax2+bx+c=0 Q)Q
¥ P

(@) a<0,D>0 (b) a>0,D>0 (c) a<0,D<0 %
61) Leta and S are the roots of a quadratic equatlo$ gx+r=0then
(a) a-‘rﬂ:—]—) (b)a :1—7 (C)

62) Zero of the polynomial p(x) = x2 - 4x + 4 @
(@1 (b) 2 (c) 2 (d) -1

1
63) The roots of the equation x + - é,x #0 are

@ 13 () 3 ( 3’@‘( L3
64) Ifx = L thent)@ofx3-xz-llx+3is
2443
(@ 0 (b) 1 (c)2 (d) 4
65) Which whole number is not a natural number?
(@ 1 (b) 2 (c) 3 (d) O

khkkkkhkkkhkkkhkhkhkkhkhkkhkkhkhkkhkhkkhkhkhkhkkhkhkkhkhkhkkhkhkkkhkkxkx



